ERR A e P
AVITINIT 9L AREIFR SEHER
S ETHAR : 2023438 1H~3H815H

g 17WIY A 17014 B %
%“f:”; "’E‘% GGy B BEEG) GEEE | Raltd

HBIE 13.2 16 0.0 0 121

it EHE 5.1 7 0.0 0 137
i =2FE 25.0 14 0.0 0 56
B =1 0.3 1 0.0 0 378
. MEE 5.9 1 0.0 0 17
R A= 33.3 1 0.0 0 3
it =ER 7.7 1 0.0 0 13
deiEE-Ei 51 41 0.0 0 725
B E 5.1 9 0.0 0 175
mARE 3.2 4 0.0 0 125
HEE 10.2 25 0.0 0 246

" BEE 17.3 39 0.0 0 225
% FEE 75 21 07 2 281
= *EEI%‘BE 7.4 26 0.3 1 350
= =12 6.9 37 0.0 0 535
e FEE 5.5 16 0.0 0 292
! 0.0 0 0.0 0 5
EHE 9.6 34 0.6 2 356
BEEIR 8.1 211 02 5 2590

Falm 2 0.4 1 0.0 0 262
TR 3.8 10 0.0 0 264

jﬁ = 9.9 13 0.0 0 131
’:“: AIIE 17.1 24 0.0 0 140
i = 38.1 16 0.0 0 42
= I 215 0.0 0 0.0 0 10
Rt 1.5 64 0.0 0 849
HBER 22.5 18 0.0 0 80

AR AT 11.1 17 0.0 0 153

PNV 1.2 5 0.0 0 418

by EEER 2.9 11 0.3 1 377
@ ZBEE&R 0.0 0 0.0 0 48
%g%k#mgﬁ 0.0 0 0.0 0 122

2HE 20.0 19 0.0 0 95

i # 5.4 70 0.1 1 1293
EWRE 9.8 8 0.0 0 82
SRE 5.3 2 0.0 0 38

fiE] LU IR 125 47 0.0 0 376

liél LER 9.3 29 0.0 0 311
=yt 18.0 31 0.0 0 172

o BESE 6.1 2 0.0 0 33
! 254 15 0.0 0 59
= TR 6.4 3 0.0 0 47
SR 16.7 15 0.0 0 90
hE-mE 12.6 152 0.0 0 1208

faha 2 75 33 0.2 1 440
EER 2.9 4 0.0 0 138
EIGE 6.0 6 0.0 0 100

7 REEARE 5.9 11 0.0 0 188
A AR 1.0 1 0.0 0 105
i BEE 103 3 0.0 0 29
BEREE 2.2 3 0.0 0 138

il e 2.0 1 0.0 0 51
M 5.2 62 0.1 1 1189
LESKE 7.6 600 0.1 7 7854




